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‘ wuz - 3 / SECTION - A

Question Nos. 1 to 70 have four options, out of which only one is Ggrract.

You haye to mark your selected option, on the OMR Sheet. AnsSWer e
35 guestions. 35x1=35

1. Feafefes 3 9 ag e g s § T E 2

(A). Cu (B}~ Au
C) Al l (D) Fe
Which of the following metals is generally found in free state ?
(A4) Cu B) Au
(C) Al O] Fe
5. frfafga § B HH AP
@), i e Eh

B gﬁ@ﬁaaﬂ'ﬂﬁ%
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[118]
Which of the following 'statements is true ?
(A) All ores are minerals
(B)  All minerals are ores
(C) A mineral cannot bé an ore
(D)  An ore cannot be a mineral
e wgait & Rras fremdor § dea arged @1 95T & @ ?
(A) e (B)
(€ frem (D) wifsaw

Electrometallurgical process is used for the extraction of which of

the following metals ?

(A) Iron | A .(B] Lead
(C) Silver (D) Sodium
Rt 3 TerT-7e o1g Iafd B 2, WE I
(A) THITE (B) Ao
(C) AR (D) iR
An ore having two different metal atoms is
(A) Haematite | (B) Galena
(C) Magnetite : (D) Copper pyrite -
152 252 2px! 2py' 2pz! Fraftas & fow 7 &1 RIS Fmmm @ 2
(A) i _ B) TR
() TR (D) WA
[24/A/XI11-5005-34/40) Page 4 / 32
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[118]
Which of the following elements has electronic configuration

1s2 2s% 2px! 2py'2p2! ?

(A)  Oxygen (B) Hydrogen

(C) Nitrogen (D) Fluorine
fArfiRad § R Argom o AR damawen 19 @ ?
(A) - Eie TS (B). T ATES

(©) STEIN TRIEERE (D) SIS JereEEs

Which of Ithe follu{ving oxides of nitrogen is calicd laughing gas ?

(A)  Nitric oxide (B) Nitrous oxide

(C) Dinitrogen trioxide (D) Dinitrogen pentoxide
Frerferfiaa & Readl =y Sl TR OIS © 2 |

4) 0-0 (Bl S-S

(C) Se-Se (D) Te-Te

Which of the following has highest bond energy ?
(A)  O0-0 (B) S-8

(C) Se-Se 5 (D) Te-Te

Ni (CO), ® Ni st an-ﬁﬁwr AT 8

(A) O (B) 1
ey 2 . Dy 4
The oxidation state of Ni in Ni {CO), is
A) O B) 1
ic) 2 (D) 4

24 /A X11-5005-34/40)
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D | - | | [118)
9, '

wefta wre # e 3§ R den frega e wad afue 2 ?

(A)  [PY{NH;), |C1, (B) [Pt(NH,).Cl |Cl,

a)s
() [Pt(NH,),Cl,]CL, (D)  [Pt(NH,),Cl,]Cl

Which of the following has the highest molar electncal conductance
in aqueous solution ?

(A)  [Pt(NH;); |Cl, (B)  [Pt(NH,).Cl|Cl,
(C)  [Pt(NH,),CL,]Cl, (D)  [Pt(NH,),Cl,]Cl
10.  K,[Fe(CN), ] ST IUPAC 79 8
(A) | qrfirem BT (B) Wefm Shwmass
(C) iR IR () (D)  Jefwem %ﬂmﬁft& (1)
The IUPAC name of K,[Fe(CN):} is |

(A) Potassium ferrocyanide
(B) Potassium ferricyanide
(C) Potassium hexacyanoferrate (IT)

(D) Potassium hexacyanoferrate (I11)

11. frefia By, § Iufera & @

(&) HEwE (B) FHREW
©) i - o fee
Vitamin B,, contains
(A)  Cobalt . (B) Magnesium
(C) Iron I{[)) Nickel
24 /A/XI!—5005-[34I40] Page 6 / 32
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. _ [118]
[Ni(C,0,),]'" ® Ni #) =g vo §

12.
w3 B 6

4 (D) S

The coordination number of Ni in [Ni(C,0,),]*"is

A) 3 (B) 6

) 4 | (D) 5

CH, ‘

13. CHs—tJ:H— CH,— CH,Cl %1 IUPAC 7 8

@A) 1-FE-2-3fe =g (B) 1-a%ﬂft3ma‘|ﬁ%=r
o 1R ARE R (DT T A I

CH,
The IUPAC name of CHs—-(lJH— CH,—CH,Cl is

(A) 1-chloro-2-methyl butane
(B) 1l-chloroisopentane
(C) 1-chloro-3-methyl butane

(D) None of these
C,H.Br +NaOH—C,H;OH +NaBr frafifgs § e TR R

sffsrar & 2
(A) IR farura (B) TR foreamm
(C) (A) 3l (B) 2Hl (D) T & i @

o 24 /A / XII-5005-(34/40) I | Page 7 / 32
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m [118)
C,H.Br +NaOH—-»C,H.OH +NaBr is an example of which of the

following typcs of reaction ?

{A) Electrophilic substitution
(B) Nucleophilic substitution
(C)  Both (A) and (B)

(D) None of these

15. ﬁm%ﬁaaﬁaﬁqumw%?

[ HsPe, () H,PO,

3 (D) H,P50,

Which of the following is the molécular formula of Orthophosphoﬁc

acid ?
(A)  H,PO, - (B) H,PO,
(C) HPO, (D) H,P,O,
16. XeF, Gt Bt
(A), TTHABE (B} INTheTHI
(C) iae 0) AR
The structure of XeF , is
(A)  Tetrahedral (B) Octahedral
(C)  Square planar . (D) None of these
- 24 A/ XII-5005-(34/40) | Page 8 / 39
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[118]
? frefefaa & = Yol gares atfwdiem el Seia & ot @ 2
(A) I (B) Br

() Cl (D) F

which of the following halogens does not exhibit a positive
oxidation state ?

(a) 1 (B) Br
() Cl (D) | F
18. ffafead frem sy s ged sl 2 ?

(), H,0 (B) H,S
© H,S . (D)  HyTe

Which of the following hasithe smallest bond angle ?

(A) H,O0 (B) H,S

(C) H,Se (D) H,Te

2
19, Prfafigs o frad srgfia oegl 6 Te e g 2
A) Mg (B), Ti**
c v | D) Fe*

Which of the following has maximum number of unpaired

electrons ?

(A)  Mg”’ ®) T
c v D) Fe™
— 24 /A [ X1I-5005-(34/40) Page 9 / 32
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[11{3] :

2? sl Y e srfieor sreen 2

| A +2 . (B) .+3

€ +4 | D) +6

The maximum bJﬁidation state of chromium is

w 2 ® 3

€ +4 D) +6
21, Cu®(Z=29 ) T mwﬁm%

a o B) 1

(€ 2 - | O 3

The numbcr-é:rf unpaired electrons.in.Cu 2" ion (Z=29)is

@ o ® 1

© 2 O) 3 | N
22.  gOguEef e L. =+ U B B

(A) uId (B) ndear

(C) =i (D) IR |igw

[sotonic solutions have the same

(A)  Density (B) Normality

(C) Strength (D)  Molar concentration
23.  HCIWE H,0 % Wiz s # tgan @

(A)  489% HCI (B) 36% HCI

(C)  22.90 HCI (D), 20-2% HCI

24/ A/ XI11-5005-(34/40) Page 10 / 32
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24,

25.

26.

118

An azcotropic mixture of HCl and H, O has l ' ]
(A) 48% HCI (B} 36% HCI
(C) 22-2% HCI (D) 20-2% HCIl
96500 F F1 faga amaw cuso, % fea @ o war

'{a) 63-5 UTH qien (B) 31-76 UTH draT
(C) 96500 UTH dTan (D) 100 I dial
A charge of 96500 coulomb liberates .............. from the solution

of CuSO , .bsebresult.in

(A) 63-5 gm copper (B) 31:76 gm copper

(C) 96500 gm c;oppéf (D) 100 gm copper
e At F e - R B R
r m - A
@ B 7
R
€ 1.A D) =

The cell constant of a conductivity cell is

B) 4

@) :

4,
A

R
© 1A o =

& Zn | ZnSO, || CuSO, | Cu % fogd e ¥ 1-1 AR B T8
Foitg 2
(A) 2Zn (B) Cu

(C) znSO, (D) CusO,

24/A/XII-5005-@/40)| = Page 11/ 32
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27.

28.

[ g,

Cu;
The electromotive force of the cell Zn | ZnSO 3 11 cusSO, | is

11 volt. Its cathode is

W zn B Cu

(C) Znso, (D) cuso,
R T frgia feed R 2

(&) ¥ B) EfaE

€) swawrs (D) TEHE

Who gave the theory of ionisation ? |

(A)  Faraday | (B)' Arrhenius
© Ostwald (D)<' Rutherford
Forelt el <1 e o grdnk el 2

(A) IO ZEHH 9T (B) . WWW
(C). 3] ZEHHH W (D) =fha amn @

The rate of reaction of a substance depends upon
(A)  Atomic mass (B) Equivalent mass

(C) Molecular mass (D)  Active mass

29. T=fafiga d fea U gomse &1 Soiee Syl S gudad »

(A)  (CH,),CHX (B) CH,CH,X

(©)  CH,CH,CH,X (D)  (CH,),CX

24 / A/ X11-5005-(34/40)
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30.

31.

32

[118]

which of the following alkyl halides is hydrolysed by Syl

mechanism ?

(A} (CH,4),CHX (B) CH,CH)X
(€) CH,CH,CH,X (D) (CH,;),CX
Fem {6 3R oa & grr e A 9 @

A) s (B) A

€ & D) W
Chloroform on reduction with Zn and water givcls
(A) Acetylene (B) Ethylene

(C) Ethane . (D). Methane

m@amﬁaﬁﬁmwﬁwmﬁmwﬁ% at

T B

(A) TETRIE PR (B) W

C) A D) WA

When ethyl bromide is treated with dry silver oxide, then wﬁa get
(A)  Diethyl ether (B) - Ethanal

(C) Ethane (D) Ethene

qFTd AR 8

(A) 3T CaCl, @ ®iE HCl (B} 3 ZnCl, W Wig HCI

(C} 3 AICI, U ®E HCl (D) 31K PACl, U &% HCI |

24 /A /[ XI1-5005-(34/40)

by:BSEBResult.In

Page 13 /32
(



33.

34.

Lucas rcagent is

(A)  Anhydrous CaCl, and conc. HCI
(B) Anhydrous ZnCl,, and conc. HC]
(C) Anhydrous AlCl ,and conc. HC!

(D) Anhydrous PdCl, and conc. HCI

RA-2-31Td § Th

[ 118

(A) ST Ceenhreie (B) J*velt urenigiel
p?f)/_ R wenigier (D) TREERF TePier
Butan-2-olis a : '
(A Primary alcohol (B)-\*Secondary alcohol
(C) Tertiary alcohol (D)  Dihydric alcohol
Frfeiaa & @ +1 RE TR 2 2 |
. .G
(A) CH,CH,OH () CH;—C—OH
CH,CH;3
o GHOH T
(C) EH,0H (D) CH3—(|3— CH,OH
CH,CH,

- Which of the following is a tertiary alcohol ?

(A)  CH,CH,OH (B) CHy~¢—OH
CH,CH,

© oM D) CH -"?IEJH
CILOH S =Sion
CH,CH;

24 fA [ XII-5005-(34/40)
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E ‘['11;3]

Clly |

35. Ci,—CH=CH,0H %1 [UPAC ™ &
y/’z-ﬁﬁm-Lﬁﬁq‘m (B) [T TeHiETd
© 27U« 1= (D) M ¥ g TE

Hs
The IUPAC name of CH,—CH=CH,0H is

(A)  2-methyl-1-propanal (B) Isobutyi alcohol
(C) 2-methyl-1-butanal (D) None of these

36. Udifes v Fnafafas o fre® g wdiese s & a=m R ?

(A) PClg . (B) [PCl,
(C) SOCl, | (D) Clé
With which of the following does acetic acid not form acetyl
chloride ?
&) PCl, B) PCl,
(C) SOCl, (D) Ci,
37, dtemTee g
() I B) &
€) (D) JEEA
Acetamide is |
(A)  Acidic (B) Alkaline
(C) Amphoteric (D} Neutral
24/A/_XII-5-T5-¢34;40} Page 15 / 32
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53]

38.

39.

40.

[ 118

Tehueht Ui
FATCH a0,

Secondary amine

Quaternary salt

ﬁﬁaﬁqﬁaﬁﬂqﬂﬁaﬁtmmH%mnﬁmmW%

CH,CN

CH,NC

Methylamine on heating with chloroform and alcoholic KOH gives

CHy
CH;— <F~NHQ ?TH
CH,
(A). Sl U (B)
(C) NI i (D)
G
CHS—(i}- NH, is a
CH,
(A) Pr_imary amine (B)
(C) Tertiary amine (D)
(A)  CH,OH . (B)
(C) CH,CHO (D)
(A) CH,OH "~ (B)
(C} CH,CHO - (D)
frfafaa § el gaffs anfa @
(A)  C,H.NH, (B)
(C) (:2HSNH2 (D)

CH,CN

CHSNC

(C¢H.),NH

(C,H.),NH

Which of the following is the most basic ?

(A)

(C)

C:H.NH, - (B)

C,H.NH, (D)

(C(H,),NH

(C,H.),NH

24/AIX]I 9005-(24/40)
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42.

(€ AR AAE F (D) EEEH 9

The. helical structure of protem is stabilized by which of the
following ?

(A)  Ionic bond . (B) Covalent bond

(C) van.der Waals forces (D) Hydrogen bond

Frafefen & B3 feRed 2 -
(af TEm ' (B) .®®a
© T (D) T

Which of the following is a ketohexose ?

. (&) Glucose @B Fructose

(C} Sucrose (D) Starch

- E S e e e T

(8) CH,COOCH, +H,0 —~——>CH 3COOH + CH 3 OH
(B) CH COOC2H5 + NaOH — CH COONa+C ,H;OH
€ 2H,0, — 2H20+ 0O,

(D) 2N,0,—4NO, + O,

[24/A/XI 5205 caran Page 17 / 32
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D 1)
Which of the ﬁ::nllowing is not a first order reaction ? - S
b 2 . CH,OH
(A)  CH;COOCH, +H,0 —4~ CH,COOH + CH;
(B)  CH,COOC,Hg + NaOH — CH,COONa + C,HsOH
(€} 2H,0, = 2H,0+0,
B)  2N,0,-4NO, +0, -

44, - Frelt ot R <61 e % 3 Fcies o) s 2

@ FEHTET g, g @ 2
© =&’ ‘[D}- e ot §7°

The unit of rate constant of a second ordér reaction is
B]  melLlsset - (B) Nricl 1 Tgag]
(C)  mol™'L sec™? (D) mol L sec™?

45. Trdt afufear &1 31 wfiem -‘5(11—1':=r-c[1r'4r]"’2[B]]“'2 ?, @ affem 6
HifE B

' 1
(A) 2 (B) 2
3
Q3 (p] 1
If the rate equation for a reaction is == dx '—k[H]lﬁ[B]”Q, the order

of reaction is

1
Aa) 2 ®
y 3
“ 2 (D) 1
— \ -
24/ A/ X11-5005-(34/40) Page 18 / 32
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m , (118]

X _ 3. 1/n
A K
[ ) m D (B] —r;—lzk.p””
(C) xrn-_-kpifn (D) Xk
m I/n

According to Freundlich adsorption isoetherm

X n
W =k B Dok
(C) xm=kp'/n x__k

_ 2 (D) m_plfﬂ

47. TUB

(AL ST T afefya sar (B) g H uRafRa s
© daHaRdfasm - (0 = i v T@
Milk is '

(A)  fat dispersed in water (B) water dispersed in fat

(C)  water dispersed in 0il (D) fat dispersed in fat

48. Trafafaa # $19 ol Fakge 2 2

(A) <& . B ™

(C)— HIEq D) @I

Which of the following is a lj;rnphilir: colloid ? |
(A) Milk e (B) Gum

(C) Fog (D) Blood

— 24 /A/XI1-5005-(34/40)
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S0.

oL

e . I

- [118)
¥ B T omB % s § frefRan & Pre SO I
BT g 7 |

(&) Al,0, (B) Fe+ Mo

(€} CuO | (D) Pt

Which of the following catalysts is used in the manufacture of
ammonia by Haber's process ? bsebresult.in

(A)  ALO, | By Fe+ Mo

) CuO (D) Pt

Rrerfor S g 9 e @Y e v P 2, e R
ay ffma o fERfED
(C) FafmE D) fafE K

A vitamin which plays a vital role in the coaguléting property of
blood is

(A) Vitamin A (B) Vitamin D
(C) Vitamin E (D) Vitgmin K
FARAA-T & T |

() Temgae B) WRfH

(C) TS (D) EmrEfes
Chloramine-T is a/an

(A) Disinfectant (B) Antiseptic
(C)  Analgesic (D)  Antipyretic

24 / A/ X11-5005-34/40)
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53.

o4. .

-[1131

BT T &1 @ e g Prafefgs o fres w2
(A) St (E;_ TAHEE
(C) AT (D) TR

Hydrazine is a drug which is used in the treatment of which of the
following ?

(A) Malaria (B) Typhoid
(C) Cholera | (D) 'I‘ubérculosis
frerfirfias § # o Tweme @ 7
@) Fedr (B)
©) O wawh
Which of the following i8’an alkaloid ?
(A)  Nicotine ~ (B) Atropine

- (O  Cocaiiie P Y Allebiliese
Frafafiga # *h wpfas @ @ » |
(A)  TEEH (B TEgEgE

(0) ichfefa (D) emse

Which of the following is a nétural rubber ? |
(A) Isoprene (B Nitrocellulose

(C)  Polyethylene (D) Bakelite

24/ A/ XI1-5005-t24/40)

Page 271 /32
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5? e e Qe W et w § v g €, R

56.

DL

A) | fuef= (B) | SIS
(C) Q%ﬁﬂ'?m : (D) ma’ﬂﬂ’f

A réw material used in mal;ing nylon is

(A)  ethylene , ‘- [é} butadiene
© adipic acid . @ D) isopréne‘

P ~CF, Preffas & - ﬁ‘m‘m‘{% ?

(A) A (B) TOERA
©) TEAE-6 ©p" -

F,C=CF, is a monomgr-of which of the folléwing ?

(A) Teflon | (B) - Glyptal
(C) Nylon-6. (D) Buna-S
#r faferfiaa o fora s @ @ 2
(a)  IrEfE @ (B). HEEANH T
()  3foees @ (D) 9Igs @I
Which of the following types of crystal is diamond ?
(A) [onic crystal (B} Covalent crystal"
(C)  Molecular crystal (D)  Metallic crystal
e e — : - 2 fg_
| 24/A/XI11-5005-(34/40) Page 22 /7
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B} s [118]
58.  NaCl W1 I Htaw 2
@A) wEMEEEdEm (g e 3
(€) = Auwelty D) iz HFa aw=n
The structure of Na() crystal is
(A)  Hexagonal close packing
(B) | Face ::e.ntred cubic
(C}  Square planar
;(D] Body centred cubic
59. Pfufes § S wRwd s
I -
(C) |THRY T O) w4
Which of the following is an arnorphou-s slolid ?
(A) | Diamond (B) Graphite
(C) Common salt | (D) Glass
60. IEHwHa fifer fora et § Frlt B € 2
a6 | B4
K D) 12
An octahedral void is surrounded by how many spheres ?
® 6 B A
& B | (D) 12 N
24/ A/XI1-5005-4/40) Page 23 / 32
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61.

62.

-

. - (18]
ol P 3 e ) s T 1 A wt qw R
FA g ? | |

(a) rﬁ'aw o (B) . A

€ wwem (D) e

Which of the following modes of expressing concen’_cration of a

solution does not depend uﬁon temperature ?
(A)  Molarity (B) Normality

(C) Formality (D) | .Molality

frafefaa § $1 Teee Fram ¥ T ey gt 2 2

(A) C.H, WNC,H.CH, @) C4H, T CCl,

(C) CHCl, @1C4HJOH (D) . CHCl, W1 CH,COCH,
Which of the following show positive deviatibn from Raoult's law ?
(A) C.,H, andC H.CH, (B) C.H, andCCl;

(C) CHCIl, and C,Hg OH (D) CHCIl; and CH,COCH 3 '

et faema % quooh e @ fekifes § @ fre ofew % oo =
foray ST @ 2 |

LR T _
(A) e (B) = RT
i eT --.ET.
@ =T S
24 /A / X11-5005-(34/40) Page 24 7 32
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64.

65.

[118]
The osmotic pressure of a solution is rcprcsentcd by which of the

following equationg 7

R . :
B =y ®), Z=RT
2T .
=l =z | o) . ==EL

FrrfRaa i fradt i Aene RoTee & U3 TR T2 P
(a) T Ag,0 (B) 3T Ag,O

(C) I ZnO ' (D) ¥ ZnO

Alkyl halides form ethers by reacting with which of the following ?

(A) Dry Ag, O - (B) Moist Ag, O
(C} DryZnO (D) Moist ZnO
OH

CH3—{|3H—- CH,—CHO T [UPAC 714 2

W oEEERTE  (B) EEwRE

€) 2-gTEgEREA D) T A FE T
' OH
The JUPAC name of Cﬁa"éH_ CH,—CHO is

(A) 2-Hydroxy butanal (B) 3-Hydroxybutanal

(C) Q-Hydroxypropaﬂal (D) None of these

————"'“"'_Bc;l / A/ XII-5005-(34/40) Page 25/ 32{
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66.

67.

68.

| [ 118
ST T saaie T 3 |

() iR It

(B) WIS w1 -

(C)  40% o Sreftg et |

D) WRrEEREETE #

Formalin is the commercial name of

(A)  Formic acid

(B) Fluoroform

(C) 40% agueous solution of methanal | .'
(D)  Paraformaldehyde

o ofReETEe ¥ EdR & W A 2

(A) U Tehige (B) T HIH
© TR + (D) (U iR

An aldehyde on oxidation gives

(A) an alcohol (B) aketone
(C) an ether D)  an acid
w wReEEd (B el
() wHieH ¥ B g
L24f A/ XI1-5005-34/40) —_— gLk
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69.

70.

(18]

Chlorectone is formed when chloroform reacis with
(A) Formaldehyde’ | (B) Acctaldehyde
(C) Acetone (D) Benza]déhyde

i AR Sl a7 A

&) CH, O : B) CH,O

n2n+2 n 2n
© CH,0, (D) CH, .0,

n 2n n 2n +'1

The general molecular formula of saturated monocarboxylic:

“acids is -

4) CH, O B <VC H, O

() C,H,, 0, (D) CH,, ,,0,
tﬁﬁﬁﬁm@ﬁ%ﬂﬁﬁﬁmﬁﬁjﬁﬁs&%mﬁﬁa%mm
HFAT B ?

W RRwdw (B W

© ofem w1 bR (D) wifeaw SEFEERE

By which of the following formic acid and formaldehyde can be

distinguished ?

(A) Benedict solution (B) Fehling solution
(C) . Tollen's reagent (D) Sodium bicarbonate
24 /A f X1I-5005-(34/40) Page 27 / 32
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D | {usj

Gvs - ¥ / SECTION - B

Y IANT- W / Short Answer Type Questions .
7T WS 1 # 20 g I E o ﬁﬁﬁ‘ 10 st & gy & | 9AF F forw

2 3% Fraffia & ; 10 x2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer aﬁy 10 questions.
Each question carries 2 marks : 10x2=20
1. AR T oy R 2 ' 2

Which is Rosenmund reduction ?

2. UNwIES s4 fhE TR ST £ 9 9

How is polypeptide bond formed ?
3. ° F2,012,Br2qé12aﬁ3éazhégm%ag&mﬁwﬁl 2
Arrange F,, Cl,, Br, and [, in the increasing order of electron

affinities. |
4. Kr(Z=36)Td Xe (Z=54) % saagi"e o= fod) 1+1

Write the electronic configurations of Kr (Z =36 ) and Xe (z = 54 ).

& DNAﬁ?ﬂTﬁﬁﬂﬁaﬁﬁlﬂTmaﬂhﬁl 2

Discuss the utility of DNA ﬁngerp{*inting.
6. el % TH-TH TEOG: ,

) e )

| 24/A / X11-5005-(34/40)
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10.

11.

12.

13-

14. -

[118]

Give one example of each of the following :

(i) Synthetic polyfner (i) Condensation polymer.
% 3 s % g R o= § Bl

Write the names and formulae of two ores of iron.

Qgﬁﬁmu@%ﬂWﬁWWWWaﬁﬁwm% ? 2
Why is cryolite ore used during the extfaction lof Almetal ?
e S 0 FEd £ 2 T SR A - 2
What are néiwork solids ? Give an example.: |
giedhr g Rl 8 € ? J2TETO % WY S R . 2
What is Schottky defeet >’Explain with example.

Hrel SO 41 @ ? 2

What is mole fraction ?

o757 TrE % I A & HEY H T =1 fram fad) 2
Write Raoult's law of relative lowering of vapour pressure.

S # s R ¥ gaa i Rrega-tantes g w33 R 2

Discuss electrochemical principle regarding rusting of iron.

e Areiehed 9 agdl & T YNS qSAT R P : | 5

What is the effect of dilution on molar conductance ?

-

[ 24 /A/X11-5005-34/40) | Page 29 / 32
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I [118]
B ¥ e s arafes e 3 o S :

_ . .4] adsorption and
What are the main differences between Physica .

chemical adsorption ?

16, TR TR

What is Brownian movement ?
17.  Hifsw Ofg siffe s 2 2 ; | ?

What is carbyl amine reaction ?

18. frafefaa Aft % rupac am fomd o (O 2

CH OH
[ 2 (E

(i) CHs—(—CHOH (i) CHs—CH—CH,~CH,-OH
CH;

Write the IUPAC names of the following compounds :
CHs

~ OH
() CHS-‘]T“HCHQOH (i) CHS—JZH—CHQ__CHQ_OH
CH3 : '

Lo s e e A 1 Pt i . )

Why do transition elements form complex compguhd's o
00, et TTH] & (EAN) ht = ﬁ‘

Explain effective atomic number.

[24/A/X11-5005-34/30)] -
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2 30T W9 / Long Answer ije Questions
_W?Wm#zﬁa?g‘m%m?!wémﬂf%awa?fm#ﬁm
Safa;ﬁ’ﬁlfﬁﬁ'?‘. _ i 3X5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks : - 3x5=15

21. aqﬁ[ﬁ;q'[%aqﬁanqwmﬁ%? aﬁ%mén%-ﬁﬂaﬁmﬁﬁ
FIAT ] ? AT H | 243

What do you understand by rate of a reaction ? What factors affedt_ -

the rate of a reaction ? Discuss.

22-. TG TR HHST WS FH T8 PR TR B T R 2 2+3
What is soap ? How does-it act in the cleansing of _cl-othes ?

23 e ol & s faef a1 R R 7 it weke der & P YR
arfirferan &t 2 2 340

Write the principle of manufacture of ammonia by Haber's process. -

How does it react with CuSO , solution ?
n4. uTERE, Akt T R wwEiEE # 39 H fadg w0 2 .. 5

- How would you distinguish among primary, secondary and t'ertiary

alcohols ?
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N
“\

i

[1is )
5
Prrfefiem st serew wfea FHAIRS |
| |
() Uosia g . (i) PRy (AT

Explain the following with examples
. | izzaro’s reaction.

{if = Aldol condensation’ (i) Cannp .
. S X 1L
26. T=fafes & 1upAC am fad ¢ ;
| EH : ' - 4, —~CCOH
(IDI
(iiij C1—CH—COOH - (ivy CH;—CH=CH—COOH
O
(v) CHS-(_HD— CH,—COOH
Write JUPAC names of the following :
OH
(i) CH;—CH-— COOH (i) GHo—COOH
CH,—COOH
(I_“,I .
(iiij Cl1—CH—COOH (iv) CH;~CH=CH—Coou
g g ¥ & Fdfda maft sarerd,
(v} CHz—C—CHz;—COOH a2z gy, usaug, , vsfde
fAPHIR® sRRTe fA® sanfe Tad
— UEs Ut & f3e...
BSEBResult.In
Rfe s &
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